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I D1cod1r tor enabling SCSI data and atatu• r1giat1r• 

paltJP• pal1018 
palnaa1 d1cod1 U121 620-1064 
palid 1.3 84/03/02 

PALBEGill 

I Input• 

1 IHPUT cd 
2 INPUT io 
3 INPUT asg 
4 INPUT sacondb7t1 
6 INPUT rds-
8 INPUT vrc-
7 INPUT rdd-
8 INPUT vrd-
9 INPUT ID.rat 
10 GHD 
11 INPUT 1D1 t-

I outputs 

20 vcc 
19 OUTPUT cout-
18 OUTPUT sin-
17 OUTPUT dout.hi-
18 OUTPUT dout.lo-
16 OUTPUT din.hi-
14 OUTPUT d1n.lo-
13 OUTPUT ragacc 
12 OUTPUT resat-

F.QUATIONS 

ASSERT cout• 
OR Cd I 10 

ASSERT s1n-
OR cd 10 

ASSERT dout.hi-
OR I cd I io I s1condbJt1 

ASSERT dout.lo-
OR I cd I 10 s1condbJta 

ASSERT din.bi-
OR I Cd 10 I SICODdbJt• 

ASSERT din.lo-
01 I cd 10 aacondbJt• 

ASSERT r1gacc 
OR rds- vrc- rdd- vrd-
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I this ls a De-Morganlzed Yerslon of 
I Assert regacc (high) if any of rds.- vrc.- rdd.- vrd-
1 are asserted (lov) 

ASSERT reset-
OR en.rat 
OR 1D1t 

STARTING-VECTOR 00000000000000000000 
RESULT-VECTOR FE3CFBEA 

PALEND 


